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Discussion O

Sunday, August 26, 2018 7:42 PM
Topiu Trroduction

As\|mp-\'(5\1‘(,s we wont™ 1o class{ftj functions
Cuven §(0) , g(n), compute

it.‘,'"f i ?c a
Than , we say
Y= 0(gtn) ¢ 04C<00  upper bound
F) = 6(qW) & 04C<m gkt bound
§y = n(g0) ¢f 0LCL® lower bound

Retwrene Relations
3 ways O
Tf the recurene 15 written &S
T = aT(%) + O(n) |
then use Maoster's Theorem !
O (n if d > 04,0
Tlh)= ?O(n‘4 l0g ) if d = logpQ
O(n>)  fd<ogen
Explicitly sdve the recurrene relovion (i-e. get on expression
for T(W)
tbh ... ot least 1n 0, this method 1s rurely used ... more Intuitively,
try method (3)!
Diow fecurrene tree and Sum up the wWork of each [evel




Usefwl Suvmmotions

Nn

iZ( = 1+ 2t3t = +n = 8(n?

=0

n o R ST Rk = Q") < ¢>1I
ZC“ =i c+C+ --+C=8(n) < cC=I
L=0 L+ C+-ec"= 080 <f c<«
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